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Subtraction -3

1 T 0
3 7
- 4

a) 32

c) 34

2. T o
8 5
- 5

a) 75

77

c) 80

3 T 0
6 7
- 5

a) 62

c) 58

4.70-30=

a) 20

c) 40

5.85-45=

a) 30

c) 45
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33

35

82

60

55

30

50

40

50

b)
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6. T 0
8 7
- 5 3
a) 43 b) 34
c) 35 d) 53
7 T (o]
9 9
- 6 3
a) 36 b) 63
c) 37 d) 46

8. Bob has 65 marbles. He gave 15 marbles to john. How many marbles are left with Bob?

a) 55 b) 45

c) 50 d) 60

9. In a class 55 students are there, out of which 23 are girls. How many boys are there in the class?
a) 32 b) 42

c) 23 d) 22

10. In a book shop total 95 English and Mathematics books are there. If the number of English books is
32 then how many Mathematics books are there?

a) 36 b) 63

c) 73 d) 83
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